Name:

Weekly Math Homework — Quarter 2, Week 3

Monday

Tuesday

Wednesday

Thursday

Angelina has 5 cakes. She
wants to cut them into 2/5
pieces. How many pieces will
she be able to cut?

Find the quotient.
9 . 3

18 6

A computer uses 239 watts per
hour. How many watts would it
use if it is on for 8 days?

Find the quotient.

64,646 +~ 46

Find the difference.

34.44 - 8.6

Find the product.

342.6 x 0.28

Find the sum.

32,342.2 + 123.45

Find the quotient.

3.321 + 0.07

What is the LCM of 11 and 44?

Use the Distributive Property
to express
64 + 24

What is the GCF of 14 and 42?

Martha’s mom is making party
bags for all of her party guests.
She has 24 green gumballs,
and 33 blue gumballs. If she
wants to split them evenly
between all the bags, without
any leftovers, how many bags
can she make?

List the first five multiples of

Evaluate the expression.

Write an expression that

Identify the terms, constants,

12. represents the product of x | coefficients, and variables in
3 x (372 + 20,967) and 9. the expression.
2y2+b -8
Identify the terms, constants, | A cartoon lasts 18 minutes. State whether the number is | Divide.
coefficients, and variables in | How many seconds is the a perfect square and why.
the expression. cartoon? 44,64 -8

Yoy + 16 — 6X

100

Write an expression that
represents the sum of 7
and x.

Evaluate the expression.

236-2x3%°+2

Joe and Maggie are working at
McDonalds. Joe makes $8.50
per hour, while Maggie makes
$9.00 per hour. How much will
they both make altogether if
they work x number of hours?

Evaluate the expression.

643-3x2°+2

What is the value of
2x* + 5x when x = 62

Simplify the expression.
6x + 12y + 5+ 2y +8

What is the coefficient of y?

What is the constant?

What is the value of
4x3 + 4x when x = 4?

Find the Perimeter of the
rectangle using the formula.

4.2

6.7
Perimeter = 2L + 2W

Are the expressions below
equivalent?

3(4x + 8)

12x + 24

Use the distributive property
to create an equivalent
expression to 40 + 4x.

Write an equivalent
expression for

4(3a+7)+3(2a+5)

If a =5, is the solution to
both expressions the same?

Name the square root of 144.
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